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Mean

Find the value of x.

1) 24, 513, x 2) 59.86, «x, 48.1, 5298
Average = 5.5 Average = 54.035
- [ - (]

3) x, 329, 2841 4) 9172, 86.5, 74.28, x
Average = 28.81 Average = 88.725
- [ - (]

5 056, x, 51 6) 8.7, 522, x, 14
Average = 2.72 Average = 6.3
- [ - ()

7) 564, x 8) x, 752, 69.63
Average = 52.37 Average = 75.47
- [ - [

9) 88.29, 65.14, 81.7, «x 10) 15.25, 98, «x
Average = 83.545 Average = 10.5
- [ - [

11) «x, 105 12) 3548, x, 29.76
Average = 11.24 Average = 34.12
- (] - (]

13) 45.87, 29.68, x, 5791 14) 91.57, 8596, «x
Average = 43.74 Average = 91.91
- (] - (]
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